$$\begin{array}{l} ff: \mbox{Suppose that } f \mbox{ is not injective.} \\ Then \end{tabular} I \end{tabular} \en$$

$$\Rightarrow \qquad (9|z_{2}) = f(z_{2}) - f(z_{1}) = 0)$$

$$\Rightarrow \qquad (9|z_{2}) = f(z_{2}) - f(z_{1}) = 0)$$

$$\Rightarrow \qquad (9|z_{2}) = f(z_{2}) - f(z_{1}) = 0)$$

$$z_{1} \qquad (z_{2}) = z_{1}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

$$z_{1} \qquad (z_{2}) = z_{2}$$

$$z_{2} \qquad (z_{2}) = z_{2}$$

and hence 
$$\frac{1}{2\pi i} \int_{|S-\overline{z}_2|=\epsilon} \frac{g_n(5)}{g_n(5)} ds \rightarrow \frac{1}{2\pi i} \int_{|S-\overline{z}_2|=\epsilon} \frac{g'(5)}{g(5)} ds \ge 1$$
  
This is a contradiction as  $g_n$  thas no zero in  $|S-\overline{z}_2| \le \epsilon$   
 $\Rightarrow \qquad \frac{1}{2\pi i} \int_{|S-\overline{z}_2|=\epsilon} \frac{g'_n(5)}{g_n(5)} ds = 0$ ,  $\forall n$ ,  
 $g \equiv 0 \Rightarrow \quad f(\overline{z}) = f(\overline{z}_1)$  a constant  
 $\forall \overline{z} \in \Omega$ 

<u>Remark</u>: The corgument in the proof of Prop<sup>3.5</sup> gives the following

And clearly Hurwitz Thun => Prop 3.5.

Step 1 For a proper and simply-connected region 
$$\Omega$$
,  
and  $z_0 \in \Omega$ ,  $\exists conformal$   
 $f = \Omega \rightarrow \underline{f(\Omega)} \subset D$  s.t.  $\underline{f(z_0)} = 0 \approx \underline{f'(z_0)} > 0$ 

$$\begin{array}{rcl} & & & & \\$$

Then 
$$f_{(z)} = \frac{1}{g(z) - (g(w) + zti)}$$
 is the following of the section of th

and 
$$|f_{1}(z)| = \frac{r}{|g(z) - (g(w) + 2\pi i)|} < \frac{r}{r} = 1$$

$$\therefore \quad h: \mathcal{N} \to h(\mathcal{R}) \subset \mathbb{D} \quad \text{canfund}$$
  
Finally,  $f(z) = e^{i\theta} \frac{h(z_0) - h(z_1)}{1 - h(z_0)} = e^{i\theta} Y_{h(z_0)} \circ h(z)$ 

(where  $Y_{x}$  as in subjection 2.1  $\angle O \in \mathbb{R}$  to be chosen) is hold. injective,  $f(x) \subset \mathbb{D}$ , and  $f(z_{0}) = 0$ .

Furthermore 
$$f'(z_0) = e^{i\Theta} \Psi_{q(z_0)}(t_1(z_0)) t_1'(z_0)$$
.  
Hence if  $\Theta = -\arg(\Psi'_{q(z_0)}(t_1(z_0)) t_1'(z_0))$ ,  
then  $f'(z_0) > 0$ ,  $X$ 

Step 2: The proof can be reduced to the case that  

$$SZ$$
 is a simply-connected region in D with  
 $Z_0 = 0 \in SL$ .

If Riemann Mapping Then Holds in the case as in step 2,  
then 
$$\exists$$
 canfamal  $f_i: f(s_i) \Rightarrow D$  canfamal,  
 $f_i(0) = 0 & f_i(0) > 0$ ,  
where  $f$  is given in Step 1.  
Then  $F = f_i \circ f : S \to D$  is confamal  
and  $F(z_0) = f_i(f(z_0)) = f_i(0) = 0$ .  
 $F'(z_0) = f_i'(0) f'(z_0) > 0$ 

$$\frac{\text{Step3}}{\text{Step3}} : \text{For simply-connected region } \mathcal{I} \subset \mathbb{D} \text{ cartaining 0}, \\ \exists F \in \mathcal{F} = \{f : \mathcal{I} \Rightarrow \mathbb{D} : \mathcal{Aolo}, \text{ injective } f(0) = 0\} \\ \text{s.t.} \quad |F(0)| = \sup_{f \in \mathcal{F}} |f(0)| \\ f \in \mathcal{F} \end{cases}$$